Examples Chapter 8
1) A sample of n = 100 observations is taken from a population of unknown mean wherein the standard deviation is assumed to be ( = 5 grams. The computed value of the sample mean is 
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 = 29.4 grams. Construct confidence interval estimates of ( for each of the following confidence levels:

i) 90%

ii) 95%

iii) 99%

2) An inspector wishes to estimate the mean of weight of the contents in a shipment of 16-ounce can of corn. The shipment contains 1000 cans. A sample of 200 cans is selected, and the contents of each are weighed. The sample mean and standard deviation were computed to be 
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 = 15.9 ounces and s = .3 ounce. Construct a 99% confidence interval estimate of the population mean.

3) A product designer is testing a new consumer battery. A test was conducted in which the new battery was discharged in parallel with the existing model. The following results express the number of hours by which the new battery outlasted the old one:
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Construct a 95% confidence interval estimate of the mean lifetime advantage of the new battery.

4) The proportion of defectives found in a sample of 100 items taken at random from a production line is .10. Construct interval estimates of the true process proportion defective for each of the following levels of confidence: 

i) 90%

ii) 95%

iii) 99%
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